CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F

2015 Bridge Maintenance Project

PROJECT NO. 15-2262 / CIP NO. 50752 DECEMBER 11, 2015

ORIGINAL CONTRACT AMOUNT: \$106,488.75
CONTRACTOR: CORR CONSTRUCTION SERVICES, INC.

		12	CURRENT					
LINE			CONTRACT	UNIT	EXTENDED	ADJUSTED	ADJUSTED	
ITEM	DESCRIPTION	UNIT	QUANTITY	PRICE	PRICE	QUANTITY	PRICE	NET CHANGE
	Base Bid							
1	Mobilization	LS	1.00	\$11,800.00	\$11,800.00	1.00	\$11,800.00	\$0.00
2	Incidental	LS	1.00	\$6,200.00	\$6,200.00	1.00	\$6,200.00	\$0.00
3	Traffic Control	LS	1.00	\$4,700.00	\$4,700.00	1.00	\$4,700.00	\$0.00
4	Remove AC Pavement	SYD	9.60	\$29.00	\$278.40	9.60	\$278.40	\$0.00
	Remove PCC Pavement with AC							
5	Overlay	SYD	9.80	\$39.00	\$382.20	9.80	\$382.20	\$0.00
6	Remove Concrete Curb & Gutter	LF	38.00	\$14.00	\$532.00	38.00	\$532.00	\$0.00
7	Remove PCC Sidewalk	SF	195.40	\$3.50	\$683.90	195.40	\$683.90	\$0.00
8	Aggregate Base Course	TON	11.40	\$58.00	\$661.20	11.40	\$661.20	\$0.00
9	Concrete Curb & Gutter, Type B6-6	LF	5.80	\$120.00	\$696.00	21.50	\$2,580.00	\$1,884.00
10	Concrete Sidewalk, 4" Nonreinforced	SF	48.60	\$18.00	\$874.80	105.00	\$1,890.00	\$1,015.20
	9" Wattles	LF	30.00	\$7.00	\$210.00	80.00	\$560.00	\$350.00
	AC, Class E, Type 1 PG64-22	TON	5.40	\$590.00	\$3,186.00	5.40	\$3,186.00	\$0.00
13	Class A45 Concrete	CY	4.50	\$985.00	\$4,432.50	4.50	\$4,432.50	\$0.00
14	Epoxy Coated Reinforcing Steel	LB	206.00	\$8.00	\$1,648.00	206.00	\$1,648.00	\$0.00
	Repair Elm Avenue Bridge North							
15	Backwall	LS	1.00	\$7,900.00	\$7,900.00	1.00	\$7,900.00	\$0.00
	Repair Elm Avenue Bridge South			•				
	Backwall	LS	1.00	\$8,500.00	\$8,500.00	1.00	\$8,500.00	\$0.00
17	Spall Repair	SF	78.00	\$275.00	\$21,450.00	89.14	\$24,513.50	\$3,063.50
	Alternate 1							
	Articulating Block Fabric Formed							
	Concrete Erosion Control Lining	1.00	885.00	\$23.75	\$21,018.75	885.00	\$21,018.75	\$0.00
19	Excavation, Unclassified	SF	7.00	\$800.00	\$5,600.00	7.00	\$5,600.00	\$0.00
	Controlled Low Strength Backfill	•			-			
20	Material	CY	6.20	\$925.00	\$5,735.00	6.20	\$5,735.00	\$0.00
21	Sheridan Lake Rd. Bridge Wingwalls	LS	0.00	\$5,281.05	\$0.00	1.00	\$5,281.05	\$5,281.05
	TOTAL				\$106,488.75		\$118,082,50	\$11,593.75

Γ	C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE:	\$106,488.75
	CCO #1F	\$11,593.75	NET INCREASE/(DECREASE):	\$11,593.75
		\$0.00	ADJUSTED CONTRACT PRICE:	\$118,082.50
		\$0.00	CHANGE TO DATE:	\$11,593.75

<u></u>	12-18-15
CONTRACTOR: CORP CONSTRUCTION SERVICES INC.	DATE DATE
Ban Johnsel) i jus
PROJECT MANAGER: KLARE SCHROEDER, P.E.	DATE
Mulm	12-15-15
CITY ENGINEER: DALE TECH, P.E. / L.S.	DATE
MAYOR: STEVE ALLENDER	DATE
FINANCE: PAULINE SUMPTION	DATE
CONTRACT TIME CHANGE +/ 0 NEW CONTRACT TIME: Days	

City Staff recommends approval of this Change Order #1F to Corr Construction for an increase of \$11,593.75 based on unit pricing with the following appropriation:

\$106,488.75			\$106,488.75
Streets			
8910			
4370			
0505			
\$11,593.75			\$11,593.75
\$118,082.50		\$118,082.50	\$118,082.50
	Streets 8910 4370 0505 \$11,593.75	Streets 8910 4370 0505 \$11,593.75	Streets 8910 4370 0505 \$11,593.75

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F 2015 Bridge Maintenance Project PROJECT NO. 15-2262 / CIP NO. 50752

DECEMBER 11, 2015

ORIGINAL CONTRACT AMOUNT: \$106,488.75
CONTRACTOR: CORR CONSTRUCTION SERVICES, INC.

LINE		
ITEM	DESCRIPTION	REASON FOR CHANGE
9	Concrete Curb & Gutter, Type B6-6	Actual quantity needed to complete the project.
10	Concrete Sidewalk, 4" Nonreinforced	Actual quantity needed to complete the project.
11	9" Wattles	Actual quantity needed to complete the project.
17	Spall Repair	Actual quantity needed to complete the project.
21	Sheridan Lake Rd. Bridge Wingwalls	

DATE: December 11, 2015

PREPARED BY: Klare Schroeder, P.E.

	FUNDING TYPE	Stre	ets	
	COST CENTER	8910 4370		
	LINE ITEM			
	FUND	05	05	
ITEM NO	DESCRIPTION OF ITEM	AMOUNT	PERCENT	
ITEM NO.	DESCRIPTION OF ITEM			
—	Base Bid	2.00	4000/	
1	Mobilization	0.00	100%	
2	Incidental	0.00	100%	
3	Traffic Control	0.00	100%	
4	Remove AC Pavement	0.00	100%	
5	Remove PCC Pavement with AC Ove	0.00	100%	
6	Remove Concrete Curb & Gutter	0.00	100%	
7	Remove PCC Sidewalk	0.00	100%	
8	Aggregate Base Course	0.00	100%	
9	Concrete Curb & Gutter, Type B6-6	1,884.00	100%	
10	Concrete Sidewalk, 4" Nonreinforced	1,015.20	100%	
11	9" Wattles	350.00	100%	
12	AC, Class E, Type 1 PG64-22	0.00	100%	
13	Class A45 Concrete	0.00	100%	
14	Epoxy Coated Reinforcing Steel	0.00	100%	
15	Repair Elm Avenue Bridge North Bac	0.00	100%	
16	Repair Elm Avenue Bridge South Ba	0.00	100%	
17	Spall Repair	3,063.50	100%	
18	Articulating Block Fabric Formed Cor	0.00	100%	
19	Excavation, Unclassified	0.00	100%	
20	Controlled Low Strength Backfill Mate	0.00	100%	
21	Sheridan Lake Rd. Bridge Wingwalls	5,281.05	100%	
		\$11,593.75		